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3XML�GDQ� V\XNXU�SHQXOLV� SDQMDWNDQ�NHKDGLUDW�$OODK�6:7��NDUHQD� DWDV�5LGKR�GDQ�

KLGD\DK1\D�� SHQXOLV� GDSDW� PHQ\HOHVDLNDQ� SHQ\XVXQDQ� VNULSVL� \DQJ� EHUMXGXO�
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7XMXDQ SHQXOLVDQ� VNULSVL� LQL� \DLWX� XQWXN� PHPHQXKL� VDODK� VDWX� V\DUDW� NHOXOXVDQ�

MHQMDQJ� SHQGLGLNDQ� 6��� 3URJUDP� 6WXGL� 0DQHMHPHQ� %LVQLV� 7HOHNRPXQLNDVL� GDQ�

,QIRUPDWLND��)DNXOWDV�(NRQRPL�GDQ�%LVQLV��8QLYHUVLWDV�7HONRP�%DQGXQJ��

'DODP� SURVHV� SHQXOLVDQ� VNULSVL� LQL� SHQXOLV� PHQGDSDWNDQ� EDQ\DN� EDQWXDQ��

ELPELQJDQ��PRWLYDVL�� GXNXQJDQ� VHUWD� GRD�GRD� GDUL� EHUEDJDL� SLKDN�� 3HQXOLV� MXJD�

PHQ\DGDUL�VNULSVL�LQL�WLGDN�DNDQ�VHOHVDL�WDQSD�EDQWXDQ�SLKDN�SLKDN�WHUVHEXW��2OHK�

NDUHQD�LWX��3HQXOLV�PQJXFDSNDQ�WHULPDNDVLK�\DQJ�VHEHVDU�EHVDUQ\D�NHSDGD��

�� $\DKDQGD� %DPEDQJ� 6HWLDZDQ� +DVLEXDQ� ,EXQGD� +HQQ\� 6XNPDZDWL�

$ULWRQDQJ��6�3G��0�3G�� VHUWD�.DNDN�GU��$GH�6HWLDZDWL�+DVLEXDQ \DQJ�VODOX�

PHPEHUL� GRD�� FLQWD�� NDVLK� VD\DQJ�� VHPDQJDW�� VHUWD� GXNXQJDQ� PRULO� GDQ�

PDWHULO�KLQJJD�VNULSVL�LQL�WHUVHOHVDLNDQ�

�� ,EX 55��5LHND� )��+XWDPL� 6�0�%��0�0�� VHODNX� GRVHQ� SHPELPELQJ� \DQJ�

WHODK� EHUNRQWULEXVL� EHVDU� PHOXDQJNDQ� ZDNWX�� SLNLUDQ� GDQ� SHUKDWLDQQ\D�

XQWXN� PHPEHULNDQ� ELPELQJDQ�� DUDKDQ� GDQ� VDUDQ� EDJL� SHQXOLV� GDODP�

PHQ\HOHVDLNDQ�VNULSVL�LQL�

�� 3HQJXML���GDQ�3HQJXML���VHODNX�GRVHQ�SHQJXML�\DQJ�WHODK�PHPEHULNDQ�NULWLN�

GDQ�VDUDQ�GDODP�NHODQFDUDQ�SHQHOLWLDQ�VNULSVL�LQL�

�� ,EX� 3XVSLWD�:XODQVDUL� VHODNX� GRVHQ�ZDOL� SHQXOLV� VHUWD� VHOXUXK� GRVHQ� 6�

0DQHMHPHQ�%LVQLV�7HOHNRPXQLNDVL�GDQ�,QIRUPDWLND \DQJ�WHODK�PHPEHULNDQ�

LOPX�SHQJHWDKXDQ�NHSDGD�SHQXOLV�VHODPD�PDVD�NXOLDK�

�� 6HOXUXK� VWDI� DGPLQLVWUDVL� SURJUDP� VWXGL� 6�� 0DQHMHPHQ� %LVQLV�

7HOHNRPXQLNDVL�GDQ�,QIRUPDWLND DWDV�NHODQFDUDQ�LQIRUPDVL�GDQ�GXNXQJDQ�

DGPLQLVWUDVL�VHODPD�PHQJLNXWL�SURJUDP�SHQGLGLNDQ�LQL�
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�� 6HOXUXK� UHNDQ�UHNDQ� PDKDVLVZD� 0DQHMHPHQ� %LVQLV� 7HOHNRPXQLNDVL� GDQ�

,QIRUPDWLND DQJNDWDQ� ����� \DQJ� WHODK� EHNHUMDVDPD� GHQJDQ� EDLN� VHODPD�

NHJLDWDQ�EHUODQJVXQJ�

�� 3HUXVDKDDQ�(LJHULQGR�%DQGXQJ�\DQJ�WHODK�PHPEHULNDQ�NHVHPSDWDQ�NHSDGD�

SHQXOLV�XQWXN�PHQJDPELO�SHUXVDKDDQ�VHEDJDL�REMHN�SHQHOLWLDQ�

�� 6DKDEDW�VDKDEDW� SHQXOLV� 0� 5L]NL� $� 6LKLWH�� 6DKDOD� 5DMD� 6LUHJDU�� 5L]N\�

0RUD�3UDMD�5DPEH��5DKPDG�0XGD�+DUDKDS�� �$KPDG�6DOHK�$ILI�6LUHJDU��

5HVWX� 5L]NL� $GDP� \DQJ� VHODOX� PHPEHULNDQ� VHPDQJDW� VHUWD� GXNXQJDQ�

VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�VNULSVL�LQL�

�� 6HVHRUDQJ� \DQJ� LVWLPHZD� EDJLNX� $QGLQD� :XODQGHY\� \DQJ� VHODOX�

PHPEHULNDQ� VHPDQJDW� FLQWD� NDVLK� VD\DQJ�� VHODOX� PHQJLQJDWNDQ��

PHQGXNXQJ� VHUWD� PHPEDQWX� VHWLDS� VDDW� VHKLQJJD� VNULSVL� LQL� GDSDW� GL�

VHOHVDLNDQ�

��� 6HPXD� SLKDN� \DQJ� SHQXOLV� WLGDN� GDSDW� VHEXWNDQ� VDWX� SHUVDWX� \DQJ� WHODK�

PHPEHULNDQ�EDQWXDQ�PDXSXQ�GXNXQJDQ��

6HPRJD� $OODK� 6:7� PHOLPSDKNDQ� UDKPDW� GDQ� NDUXQLDQ\D� NHSDGD� PHUHND�

VHPXD� 3HQXOLV� PHQ\DGDUL� EDKZD� VNULSVL� LQL� MDXK� GDUL� NHVHPSXUQDDQ�� EDLN�

GDODP� WHNQLN� SHQXOLVDQ�� VWUXNWXU� EDKDVD�� DWDXSXQ� SHUVHSVL� LOPLDK�8QWXN� LWX�

SHQXOLV�VDQJDW�PHQJKDUDSNDQ�NULWLN�\DQJ�PHPEDQJXQ�XQWXN�SHUEDLNDQ�GL�PDVD�

PHQGDWDQJ�3HQXOLV� MXJD� EHUKDUDS� VHPRJD� VNULSVL� LQL� GDSDW� EHUPDQIDDW�

NKXVXVQ\D�EDJL�GLUL�SHQXOLV�VHQGLUL��GDQ�XPXPQ\D�EDJL�PDKDVLVZD�8QLYHUVLWDV�

7HONRP�
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